Arctg,arcctg. PewweHune
vbaBHeHun tat =a.ctat = a



YnpaxXHeHune:

Boiuncnure:

ctg (arccos0) =0

V3 Vi n

a'rcsin7 + arccos =




ecau |a| < 1,TO

cost = a,

=10~
arccos a t {OStSTC

cost=a

t =+ arccosa + 2wk, k € Z

eciu |a| < 1,TO

sint = aq,
' — T T
arcsina =t & _EStSE

sint = a

t = (—1)*arcsina +nk, k € Z
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arcctga =t :){

ctgt = a,
0<t<m.



CBoucTBa:

arctg (—a) = —arctg a

arcctg (—a) = m — arcctg a



[Tpumenp:

Bblq NCINTDL

arctg (—— + arcctg V3 + arcctg 0 + arctg (—=2) + arctg 2.

PeweHune:

arctg ( )
[
arcctg 3 = E

arcctg 0 = E

arctg (—2) = —arctg 2
T W T

T
cTet3 arctg 2 + arctg 2 =

2

T
OTBerT: >



E@mMTbypaBHeHmetgt:=wJ§.

PeweHwne:

[Tpnmep:

Y
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xY

ol

R

N5

T

| —

= arctg\/§+7tk,kEZ

T
t=—+ nkk€Z

3

A

T
t1§+27'[k,k€Z T

- <=>t=§+77,'k,kEZ
tz: §+7T+2T[k,kEZ
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tgt =a

t =arctga +nk k € Z



RelwnTb ypaBHeHne ctg t = V3

PeweHwne:

M

g

=Y

"

e

t =arcctg\3+mk k€ Z

T
t=—+ nkk€Z

6

pumenp:

; tl
T
tl: — o Zﬂk,kEZ

6 T
- <=>t=g+77,'k,kEZ
tz: g+7T+2T[k,kEZ




ctgt = a

ty:arcctg a + 2nk, k € Z

trrarcctga+m+ 2nk, k € Z

t =arcctga+ wk, k €7




[Tpnmep:

ReWwnTb ypaBHEHUE
tg’x —6tgx +5 = 0.
PeweHwne:
tgx=0>b
b>—6b+5=0
bl = 1,b2 — 5
tgx =1 tgx =5

T
x=Z+7Tk,kEZ x =arctg5+nk,k € Z

OTBerT: % +mk,k € Z,arctg 5+ nk, k € Z.



[Tpumep:

PelwnTb ypaBHeHue

ctg?x — 2ctgx —3 = 0.

PeweHwue:

ctgx =>b

b2 —2b—3=0

by =-1,b, =3

ctg x = —1 ctg x = 3

3
x=T+nk,kEZ x =arcctg3+mnk,k € Z

3
OTBerT: e +mk,k € Z,arcctg 3 + wk, k € Z.



I_IpMMep: ctg(2m+x) =ctg x

T
tg(=+x)=—ct
PelwmnTb ypasHeHue . Y (2 x) ctgx
2ctg(2m + x) — tg (E + x) = /3.
PeweHwue:

2ctg x— (—ctg x)
thgx+ctgx=\/§

3ctgx=\/§
V3 T
ctgx:?:x:§+nk,kEZ

OTBer: % + tk, k € Z.



